
{u\ = xz-3x+3 = X-2X-4

(x"-3*+3)t(r-t) =x -z
xL- x)

'Zx +3
-( -zr< +z)

+4
(Ftt =

/..i)L-3cxl+3
-x-A

a6tr, y=x-Z

ä 7=*-L
(tn=o e

XL

X=

{,ry"*,^"*'. *,...- *V e&r tt". y-AcAc<-

- ? o_3,o+3 _, +3
?, ,zL -3x +-a.C,4.o.1 L --..e +-F lx+4 X-4 Ix<4 \_o I
/t* x''s**sä*3** Jx.4 x-4
x> A \*o

+& 2-

\tao
&; x-z+L' -)+e,1-tfe

.h.u^ x-2+i!7 --ä -oa
"'-:l L \o

k*he&/eAtyz
la &A^^br/d!

Ä* 
-.....:-/-^

A+-t-4

Dc = /P\{4}

--slZ

Äy.u^1o.bh--,

= Xz +3xt3
- X'Ä
*z + 3x+3

=--:- x+/1

* &"t

4-&*t

>1 =A ;at aZSo

I

l

:/u/k@e*,:
I

l
l

I

l

3 tl41 **z

(ut =

lln =

2rl
' (t1l --

L

,- L + (x-r)-a

A -^'k-t)'z'a
- (-zl'F-n)-t'a

4 -G-z)-z
2,(x-al-3 =

ful "e4;i2 Ayz"^rob€ /tr /4'r"e

"it:*t = o ['u'"1
(xz-3x +s)'(r-a) : o.(v-a)

--8-4T--3r+3 =o
3 !?6-17

G_tls

&/t+/t"--fre* |

o



/Lt lo&**z-o"rht €[n =o a ((xtlo

a-5fr =o l'G-atL
(x -,t)L - a -- a

xz-2x*A-4 =o
xL-Zx = o

<('c-Z) = 6

;) x,, =b + ('iot = *r=;l=+<o
(ro1 =O-Z+h=-Z-4=-3

? xz= z ? 4zt =rh --ft. z)o
{tq= z-z+fi =a

tJc.."bfa'^LL, (!r1 =o n

z
Gry=o

Z =Q

äur b t -s)

e (zu)

€/X' +o

l.t*-" )z

v
6{l

zl

y - x2-3x+3
t x-4

(aeA,etuT )i

/=x-z

x=44
v
s

{

-il}


